224 N,N- =N-
E+n x 10" E+3  x 1000
(kg/ ) (kg/ )

1
2
3
4 4.9E+1 49.0 49.0
5
6
7
8 8.0E+1 27E+2 347.2 3472
9 8.4E+1 84.0 84.0
10 2.3E+3 3.0E+4 32,370.0 32,370.0
11 25E+1 82E+2 845.0 845.0
12 6.4E+2 636.0 636.0
13
14 8.2E+0 7.3E+2 734.2 734.2
15
16
17 15E+1 15.0 15.0
18
19
20
21
22 15E+3 1,500.2 77E+2 771.0 22712
23 8.3E+1 83.0 16E+3 1,637.0 1,720.0
24 6.6E+1 66.0 66.0
25 9.0E-1 6.0E-1 15 15
26
27 4.1E+2 1.6E+3 1,967.3 1,967.3
28 1.7E+0 47E+1 487 487
29
30 7.7E+0 7.7 77
31
32
33 6.4E+0 6.4 6.4
34
35
36
37
38
39
40 2.1E+1 8.0E+1 101.0 101.0
41
42
43
44
45 16E+1 16.0 16.0
46
47

1.6E+3 1,614.2 2.9E+3 37E+4 39,672.0 41,286.2
1)




